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2.2.1 Déterminer l’'ensemble de définition des fonctions suivantes :
et le signe
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2.2.2 Déterminer '’ensemble de définition des fonctions suivantes :

iz + 4
o) flz) = DI
2000 du ddnemin e 3 2y = o
5 o=2x
X:% A ¢ ylne

‘ %6\-‘/@0(!1&—%0‘46%0\4; 2(a44 =0

o) = K- 3

Ta%a duw St
X —4 O %

{LX) +o— 4 + =




& 2

) f(m)z(:ﬂwLZ)g(erl) (X +2) D) (X ~+2)

zl X M - X
D?\chrr)uw Ww}cwk& Ao dﬁ%iuié;w )
X"+ X = 0
?(X +1) =0 N
WV \Y
ED(@:W\“[LDj -j - R “{~13
1) 2Zevos de. {m : (BH%)Z(XMJ — 0
U e
%M — P — || — *F




4X

1 ()







